
In the name of God  

Circuit Theory II Midterm Exam. Time = 130 m.
______________________________________________________________________________  

 

1) Using the  node analysis, calculate the voltage of all nodes.   (2.0) 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2) In the following circuit, both switches are open and the initial voltage of 
capacitor is VC(0) = 0V. At t = 0 the switch S1 is closed and the switch S2 
is open. At t = 1s, the S1 is opened and S2 is closed. 
 
a) Obtain the voltage of capacitor VC(t) at t=1s.                (0.75) 
b) Obtain the voltage of capacitor VC(t) at t=4s.                (0.5) 
c) Draw the waveform of Vc(t) approximately.                    (0.25) 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3) In the following circuit, the op-amp is ideal and the initial conditions are 
zero. Obtain the relation between Vo and Vs.        (1.5) 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